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Section Id : 686340459
Section Number : 1
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Question Id : 68634023180 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



FAfIRIT T2 D Ygh Wl & JoR alfeid ;

SR T 8. THATUR U1 aRE 61 ¢ | Rasiodl iR Ul & 4s @i e ¢ HEL &1 AL Rass! I aey
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Sub questions

Question Number : 1 Question Id : 68634023181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
TR TR H HERIUR U SR 61 © - H Waifehd Ue 31 a1 U 8 2
1. e & YR 9T
2. 3T 9
3.8 TH
4. fomuRiS

Options :

68634091601. 1
68634091602. 2
68634091603. 3
68634091604. 4

Question Number : 2 Question Id : 68634023182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
TR & SR WR RASihdi R AT @6 © :
1.95
2. 20"
3. O & YIS
4. TSR & T
Options :

68634091605. 1
68634091606. 2



68634091607. 3
68634091608. 4

Question Number : 3 Question Id : 68634023183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OGP DI HI DI IS1-T61 94 Bl ToR TS & -

A. GRI @1 @8 AlHaR
B. YIS
C. ddlgld
D. Wal g gidl
E frdi g2
i fU 70 fJadhedl § T Tol 39 &1 99 Bt -
1. $AAB, C
Hdd A, DJE
HAAC,D.B

4 FAAATE

Options :

68634091609. 1
68634091610. 2
68634091611. 3
68634091612. 4

| ]

L5 ]

Question Number : 4 Question Id : 68634023184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fo5=1 ot @t U1g aEe & fea T T8l fie gadt & -

A. IRfed vAfde
B. ¢diag

C. 3a-d

D. &9

E. g

- feg g faoed! H ¥ Hel SR &1 99+ Hife -
1. PAUA, B

. $ddaC, D

3. HduD, E

4.%49d B, D

Options :

68634091613. 1
68634091614. 2
68634091615. 3
68634091616. 4

| ]

Question Number : 5 Question Id : 68634023185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S 1 9 R SR © -
1. S HH & U8 & < o §ied 81
. §AqH AR
ST TEd BT 31T AR g3 Bl
4. 1 g T 5

Options :

68634091617. 1
68634091618. 2
68634091619. 3
68634091620. 4

| ]

LIPS ]

Question Id : 68634023180 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634023181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR TR H HERIUR U SR 61 © - H Waifehd Ue 31 a1 U 8 2
1. e & YR 9T
2. 3T 9
3.8 TH
4. fomuRiS

Options :

68634091601. 1
68634091602. 2
68634091603. 3
68634091604. 4

Question Number : 2 Question Id : 68634023182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
TR & SR WR RASihdi R AT @6 © :
1.95
2. 20"
3. O & YIS
4. TSR & T
Options :

68634091605. 1
68634091606. 2



68634091607. 3
68634091608. 4

Question Number : 3 Question Id : 68634023183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OGP DI HI DI IS1-T61 94 Bl ToR TS & -

A. GRI @1 @8 AlHaR
B. YIS
C. ddlgld
D. Wal g gidl
E frdi g2
i fU 70 fJadhedl § T Tol 39 &1 99 Bt -
1. $AAB, C
Hdd A, DJE
HAAC,D.B

4 FAAATE

Options :

68634091609. 1
68634091610. 2
68634091611. 3
68634091612. 4

| ]

L5 ]

Question Number : 4 Question Id : 68634023184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fo5=1 ot @t U1g aEe & fea T T8l fie gadt & -

A. IRfed vAfde
B. ¢diag

C. 3a-d

D. &9

E. g

- feg g faoed! H ¥ Hel SR &1 99+ Hife -
1. PAUA, B

. $ddaC, D

3. HduD, E

4. %ddB,D

Options :

68634091613. 1
68634091614. 2
68634091615. 3
68634091616. 4

| ]

Question Number : 5 Question Id : 68634023185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S 1 9 R SR © -
1. S HH & U8 & < o §ied 81
. §AqH AR
ST TEd BT 31T AR g3 Bl
4. 1 g T 5

Options :

68634091617. 1
68634091618. 2
68634091619. 3
68634091620. 4

| ]

LIPS ]

Sub-Section Number : 2
Sub-Section Id : 686340753
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634023186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frrfefad | 9 gqy 919y &1 =g S
1. T B I

T Yl

T BT
YT 61 5l g

Options :

68634091621. 1
68634091622. 2
68634091623. 3
68634091624. 4

| ]

Lad

s

Question Number : 6 Question Id : 68634023186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frfafad & 9 Yy 9190 BT 99 BT
1. 4T B IS

T Y|

YT U
14T DI el g3l |

Options :

68634091621. 1
68634091622. 2
68634091623. 3
68634091624. 4

| ]

Ly ]

s

Question Number : 7 Question Id : 68634023187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UaghH & IR &I F1 a1 Hel g |
1. 319 631 |

S T

iy

4. 319 ST

Options :

)

Lad



68634091625. 1
68634091626. 2
68634091627. 3
68634091628. 4

Question Number : 7 Question Id : 68634023187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&b T & TR P11 a1 Ha1 ¢ |
1. Y &S|

AT TS B

EIEERY

4, 319 §f3Y|

Options :

68634091625. 1
68634091626. 2
68634091627. 3
68634091628. 4

| ]

faa

Question Number : 8 Question Id : 68634023188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FET B fGaH HHE-1 82
1. ST
TR
3. IR
4, SUIld

Options :

68634091629. 1
68634091630. 2
68634091631. 3
68634091632. 4

| ]

Question Number : 8 Question Id : 68634023188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e &7 fadiy BiH-a1 82
1. YT

. YT

3. 3T

4, FHUnd

Options :

68634091629. 1
68634091630. 2
68634091631. 3
68634091632. 4

| ]

Question Number : 9 Question Id : 68634023189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
eI Xg-arar & {10 Us Weg HH-91 67
1. GHET
dluig

3. QRad
4, gaogrdt

Options :

68634091633. 1
68634091634. 2
68634091635. 3
68634091636. 4

| ]

Question Number : 9 Question Id : 68634023189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST XG-aIaT & (o0 USh Weg SIH-11 32
1. GHEM
iy

3. QMRad
4, gaogrd

Options :
68634091633. 1

| ]



68634091634. 2
68634091635. 3
68634091636. 4

Question Number : 10 Question Id : 68634023190 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST aoiT HeTaX &1 -1 fafgd & 9 wgt ofd g2
1. g gHl
RCHICRISE

EsciNEn
4. yguid giAT

Options :

68634091637. 1
68634091638. 2
68634091639. 3
68634091640. 4

| )

Lad

Question Number : 10 Question Id : 68634023190 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST T HgTdX &1 -1 fafad & 9 w8t o | g
1. G EA
T e

GBI
4. HgHid g1

Options :

68634091637. 1
68634091638. 2
68634091639. 3
68634091640. 4

)

Laa

Question Number : 11 Question Id : 68634023191 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fr=fafaa § 9 o e R @maemEtt, nforas ik saifast 6 Sodt. 2raree] § Seuid & ed U 3R
Tl & HeH UEE JRiaH- e aitd & SRaR & A3 4 T U6 92

1. HTEBET
T g

SR DY
4, RIBMHARBY

Options :

68634091641. 1
68634091642. 2
68634091643. 3
68634091644. 4

| ]

faa

Question Number : 11 Question Id : 68634023191 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFEfafead § O &1 Ue YRG™ IauraEt, Toas SR Saifas 6 sudl. Tdsal § 9o 3 38d 4 3R
TTal & 9 U@ JuigH- [Awaned & eXaR & A3 T Td 42

1. HRBET
TaE gH

SR P
4. AR

Options :

68634091641. 1
68634091642. 2
68634091643. 3
68634091644. 4

| ]

L]

Question Number : 12 Question Id : 68634023192 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UEe YR Raars! {5 YRd o fau veedle § sfiedfis O @l ued oidi g 98 6 -
1O 3L 3w

AR Fge

4, 41, 9.y

Options :

68634091645. 1
68634091646. 2
68634091647. 3
68634091648. 4

| ]

[ 5]

Question Number : 12 Question Id : 68634023192 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl YR faarst for= yRd & fou vwite § siicfis § @ul ues Sidig 98 8 -
1. 91, <. e

RS Fgs

4. 1t df. {7y

Options :

68634091645. 1
68634091646. 2
68634091647. 3
68634091648. 4

| B

Lad

Question Number : 13 Question Id : 68634023193 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T’ B SR URIYS $ f61 T Jfad g1+ are o &1 gu 31 Seard o
LGgH

%

4. PIARCIA

Options :



68634091649. 1
68634091650. 2
68634091651. 3
68634091652. 4

Question Number : 13 Question Id : 68634023193 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T’ & SR URIYS S f&1 T Jfad g1+ are o &1 gu 31 Seard o
LGgH

%

4. PIARCIA

Options :

68634091649. 1
68634091650. 2
68634091651. 3
68634091652. 4

Question Number : 14 Question Id : 68634023194 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UERT @ THIY 3R Y-S ivfd AR P § ¥ oH-9 e 4 Sefia e

A. PHRRTHAG
B. ol ¥H
. dlg o
D. fég e

- U U foeed # © 981 STR & 909 Sifoe:
1.%ad A. B R D

. $ad B, C ARD

.$ad C IR D

4, 99AD

Options :

68634091653. 1
68634091654. 2
68634091655. 3
68634091656. 4

| )

L



Question Number : 14 Question Id : 68634023194 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UeRT 1 B1U 3R Ya-Sep 1iofd AfeR Fefafad # €S-8 ¥ 9 g6idd g2

A. SRRTYAG
B. o ¥H
C. dig od
D. Egvyd

1 feu U fasedl O O g1 IR & 904 Hifeid:
1. %ad A, B SR D

PAAB, C AR D

.Pad C AR D

4.%49UD

Options :

68634091653. 1
68634091654. 2
68634091655. 3
68634091656. 4

| ]

L5 ]

Question Number : 15 Question Id : 68634023195 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=i fbd YRd & g uld & Fatem §q Mal=e® dsd &1 167 gidl 82

A. @ld 941 & Haifad gew

B. U@ Iod & [GUTH 9T & (Haiiad e
c. faur uftwe & fFafa 1w

D. 3T JHT & Faif=a 95

2 fou o fdwedl 3 € 9t SR @1 7oA i
1. #ad A, B 3R D

HAd A, C HRD

. $adA B, C AR D

4.%ad A 3N B

Options :

68634091657. 1
68634091658. 2
68634091659. 3

| )

[#5]



68634091660. 4

Question Number : 15 Question Id : 68634023195 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[F=ifard fa e YRT & Igufa & (Hafem &g Faas ded &1 789 gial 67

A @F U & Faifa gew

B. Ud® Io0 & fau 941 & Haifd 95w
c. faur afvee & fAaffa ge

D. 3T 41 & fHaifa gew

- fau e fam et § 9 et SR @ 904 $if:
1. %ad A, B SR D

. ®ad A, C SR D

$adB, C ARD

4, Pad AR B

Options :

68634091657. 1
68634091658. 2
68634091659. 3
68634091660. 4

| ]

L]

Question Number : 16 Question Id : 68634023196 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@ﬂé’fﬁ%ﬁﬁﬁﬁﬁfﬂﬂﬂﬂ@ﬂ?{ﬁﬁﬁ%@ﬁﬁ%ﬁ 1891 3R F1fe R 9 3841 8| dfda & ol &1 $a I
feoa-t g2

1.

n
L

)
Lh
(=}

4. 58

Options :

68634091661. 1
68634091662. 2
68634091663. 3
68634091664. 4

Question Number : 16 Question Id : 68634023196 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

wufﬁ%@mﬁf&mw @1 R Ufckd & aid RR 9 1841 3R arfed RR Y 38d7 g1 Uld 1 SH1 &1 $a 9@
feoa-i g2

1. 55

| ]
Lhn
h

L4 ]
[

4. 58

Options :

68634091661. 1
68634091662. 2
68634091663. 3
68634091664. 4

Question Number : 17 Question Id : 68634023197 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe St faeedi § T & AR 3! B 3aRiel HH & ogafeyd o faar o |, O Fefafaa & 3 St
T ey BIeT IT TET 8 Sty

1. 865

[ )

. 468

[#F]
L
o
[ 5]

4, 786

Options :

68634091665. 1
68634091666. 2
68634091667 3
68634091668. 4

Question Number : 17 Question Id : 68634023197 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe d et Aol § 9w & 9R 3i@! &1 el $H H cuafiyg o faar o, Jf efaiaa § O et
e gay wic] Ii T3 gl St

1. 865
2. 468

3

Ln

93

4. 786

Options :

68634091665. 1
68634091666. 2
68634091667. 3
68634091668. 4

Question Number : 18 Question Id : 68634023198 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUT - DS 1 39 e guf &9 3§ AR e

freep - 1, fopdt oft =1 & fTT Sroefl Saxg el & SITER 9d 8 I 3R Sadfad Bl

YT T
1. &% & S HIYROIC: HTTH BITUE |

e 11 Frspe @ e
. ad 1 SR 11 (Y AR Bl § |
3. Fen 1 styar sy 11 AN BT B
4, %aq 1 FsHy A BT B

Options :

68634091669. 1
68634091670. 2
68634091671. 3
68634091672. 4

ot

-2

Question Number : 18 Question Id : 68634023198 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B - By I 3 feipd guf =U F st iR 181 2
[ . 1. Tt o1 =1 o o7y Uit SiaRg s dl & SIUR 96 $© S0 AR SIS BT
SEYA B
1. &0 & TN YR ST 81 U g |
Tad 11 Fred an eI 3|
. ad 1 AR 11 Py AR B B
3. foreapd 1 v Frspd 1 AL BT R
4. %ad I (b AR EIaT 3|
Options :
686340916609. 1
68634091670. 2

68634091671. 3
68634091672. 4

[

| B

Question Number : 19 Question Id : 68634023199 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ERil ﬂj’@?ﬂ 1224, 612, 204, 102, 34,.......
T STe! T &1 gl

1.18

| )

17

3. 16

4.1

L]

Options :

68634091673. 1
68634091674. 2
68634091675. 3
68634091676. 4

Question Number : 19 Question Id : 68634023199 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o9 @Al 1224, 612, 204, 102, 34,......
T 3T T 1 s

1.18

)

.17

3. 16

4.1

L]

Options :

68634091673. 1
68634091674. 2
68634091675. 3
68634091676. 4

Question Number : 20 Question Id : 68634023200 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o: [z s, wielldl, g5, difir, Udhdl SR IRy Ue Ufdd J STk &1 $iR g PP 66 & | Tl 3R=U]
3R bl & di= H &3 31 i1 i iR R =781 ¢ | F6ild Ul & g alie o981 g | B1ivar e RR
R 51 § | SIU®] & g3 alled B g7

1. A&
. g&ldr

cdsl

| ]

[ 5]

4. Uhdl

Options :

68634091677. 1
68634091678. 2
68634091679. 3
68634091680. 4

Question Number : 20 Question Id : 68634023200 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



©: i aR=on, el =, ST, Ul SR BIRa Ue Ufdd J STk &1 3R 58 PP 66 & | T, 3R=01
3R Uwdl & &< H 961 81 et fohdi RR R =161 8 | aiid1 Uhdl & g alfe- 981 § | Wi e R
TR 51 § | SITUeT & qed alie & 87

1. 3T
gl

e

-J

T

4. U dl

Options :

68634091677. 1
68634091678. 2
68634091679. 3
68634091680. 4

Question Number : 21 Question Id : 68634023201 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G TR0 3x2 — 10x +2p= 0P HAGHA G I p BT HH FITGHT -

2
3
) 25
[{]
3. 23
3
Koo
6
Options :

68634091681. 1
68634091682. 2
68634091683. 3
68634091684. 4

Question Number : 21 Question Id : 68634023201 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT FHIHRO1 352 — 10x +2p =0 P A GHA § Al p BT HH T GHT :

A
|

3

6

3.2

3
Kol
b

Options :

68634091681. 1
68634091682. 2
68634091683. 3
68634091684. 4

Question Number : 22 Question Id : 68634023202 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1% Pig UM 4 a8 1 R Wiawrd IealS od7el U= 3 0N 61 &fidl § df del A JHH &< R fha auf § @
&1 27 TN G SIUT -

1. 16TY
18T
31539
4. 1279

Options :

68634091685. 1
68634091686. 2
68634091687. 3
68634091688. 4

| ]

Question Number : 22 Question Id : 68634023202 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A Pig AT 4 T8 § R WAWd Fh gl oaTel R 3 0N 31 Ol § O ag! 013 IHH & &R fba- auf & w4
1 27 UM g SIUe -

1. 1694
18Ty
15 ay
41299

Options :

68634091685. 1
68634091686. 2
68634091687. 3
68634091688. 4

| ]

faa

Question Number : 23 Question Id : 68634023203 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l SISRIEd UTHl 1 Bepl Il 8, U UM U 3 4 3@ b aul g8 U WR 4 ¥ (S 3idh 31 P
T &1 B

12
6

)
|

=

= R

Options :

68634091689. 1
68634091690. 2
68634091691. 3
68634091692. 4

Question Number : 23 Question Id : 68634023203 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&l TSRS UTHl 1 Bepl Wl 5. Ugd UK X 3 H 3 3eb aul g8 U8 WR 4 9 (S 3fch 1 P
TS T 3T g

1 2
6

[ )

- L%

Options :

68634091689. 1
68634091690. 2
68634091691. 3
68634091692. 4

Question Number : 24 Question Id : 68634023204 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

11 T3] T S 52 & | U8a 6 SISl &1 39 53 © Ul 3ifH 5 S=rsil &1 S9ad 498 df , B8l
WWW

1.51

[ ]
s
o

L4 ]
Lh
2

4.5

L
L

Options :

68634091693. 1
68634091694. 2
68634091695. 3
68634091696. 4

Question Number : 24 Question Id : 68634023204 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



11 @13l BT 71T 52 1 UGd 6 SN 1 31199d 55 8 quT i 5 Teamsf &1 s{aa 40§ ol . 98l
T J1d Biferd

1.51

)
e
o

4. 55

Options :

68634091693. 1
68634091694. 2
68634091695. 3
68634091696. 4

Question Number : 25 Question Id : 68634023205 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<l gHiR geRal W, 2 sRiaR 250 HY. aFelg $I Yorisal fqudid fan # fog A sik fdig B 9t g1 97y
TR 36 fhHI/EeT 3R 44 fHHl/GTT 1 910 U 90 61 § | o1d d T GUR I UR Bl 6 ol U Lol Garl
T ¥ 40 {5t 3 g U A g1 g A iR g B T dm T g gl -

1. 399.0 fapdit
. 400.0 Toodt
.399.5 fopmit
4. 400.5 fep it

Options :

68634091697. 1
68634091698. 2
68634091699. 3
68634091700. 4

| ]

L¥N]

Question Number : 25 Question Id : 68634023205 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& IR 9e il IR, 3 aRTeR 250 Ol Tl o] Yarnisar fausid f3en 4 fdg A iR fdg B 9 U® &1 99y
R 36 fati/der 3R 44 fobeilder 1 =re 9 =e 381 § | Ofd d U S8R I UR Xl & df U Yeisl, gadl
TS ¥ 40 forsit 31fere gt 7 Bl 51 foig A SR foig B & oig 31 g3 Bl -

1. 399.0 Tt
.400.0 fopit
.399.5 fopdit
4. 400.5 fpt

Options :

68634091697. 1
68634091698. 2
68634091699. 3
68634091700. 4

| )

LF¥]

Part B: Textile Design

Section Id : 686340460
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340754
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634023206 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II
Satin weave I. |Floats
Rib weave II. |45 degree angular lines

Twill weave II1. | Box like structurs
Basket weave | IV. | Vertical’horizontal lin=

o[ ofw[>

Choose the correct answer from the options given below:

1. A-I. B-IV. C-I1. D-III

| ]

CA-IL BA-IOLL C-1L D-IV
3. A-IL B-1, C-I1. D-IV

4. A-IV, B-1I, C-III, D-IV

Options :

68634091701. 1
68634091702. 2
68634091703. 3
68634091704. 4

Question Number : 26 Question Id : 68634023206 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 1 o1 9= 11 ¥ e sifey

A1 g 1T
A @A L [wieH
B. |RE g5 11|45 T&301 ivfia vy
C. fedags 111 [edl SIE 91
D_ [g¥d @Rbe) S| V. [Se & <l

FEfaRad e edl § 9 9ol 3 &1 994 S0

1. A-I. B-IV. C-II. D-III

[ ]

CA-IL B-IILL C-LL, D-IV
3. A-IIIL. B-1. C-I1. D-IV

4. A-IV. B-IL. C-III. D-IV

Options :

68634091701. 1
68634091702. 2
68634091703. 3
68634091704. 4



Question Number : 27 Question Id : 68634023207 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
A |Abrasion Resistance]| [. | Transfer of colour by rubbing
B. | Crocking II. | Resistance to rubbing
C. | Bursting strength II1. | Force required to tear a fabric
D | Tearing strength IV | Force required to rupture a fabric

Choose the correct answer from the options given below:

1. A-II. B-I. C-IV. D-III

)

. A-IIL B-IV. C-I. D-II

A-L B-III. C-IV, D-II

Laa

4. A-II. B-1, C-I11. D-IV

Options :

68634091705. 1
68634091706. 2
68634091707. 3
68634091708. 4

Question Number : 27 Question Id : 68634023207 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 =l 11 ¥ fier ifeg
T 1 el 11

U UG | I RTe ° O & a0
CAIEa L. FTs+ RfE) &1 ufaey
=5 a=dl | 1L [l SUS &l Ok & (U HIGRgd didd
e aodr | IV. [[&d U & BIad & [l HG20E diaq

FafaRad fasedl © U Ut Itk &1 904 ST

1. A-II. B-I. C-IV. D-III

ol o[ w[»>

[ ]

AL B-IV, C-I, D-II

. A-L. B-III. C-IV, D-II

g

4. A-I1. B-I, C-I11, D-IV

Options :

68634091705. 1
68634091706. 2
68634091707. 3



68634091708. 4

Question Number : 28 Question Id : 68634023208 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |ATIRA I. | Surat
B. |NITRA II. |Ahmedabad
C. |MANTRA IT1. | Coimbatore
D. |SITRA I'V. | Ghaziabad

Choose the correct answer from the options given below:

1. A-I. B-II. C-III, D-IV

| )

. A-IL B-IV, C-1. D-III

A-IV, B-I1. C-II. D-I

Laa

4. A-II. B-I11. C-IV, D-I

Options :

68634091709. 1
68634091710. 2
68634091711. 3
68634091712. 4

Question Number : 28 Question Id : 68634023208 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 =l 11 ¥ fier ifeg
el 1 Tt 11

A |ATIRA I R4

B. | NITRA 1. |HgHGIEIG

C. IMANTRA |III [®iddc

D. |SITRA IV. fmisgrEe

FafaRad fas el © O 9et IR &1 99+ ST

1. A-I, B-II. C-III, D-IV

[ ]

CA-IL B-IV. C-1. D-III

A-IV, B-II1, C-II. D-I

g

4. A-I1. B-11, C-IV, D-I

Options :
68634091709. 1



68634091710. 2
68634091711. 3
68634091712. 4

Question Number : 29 Question Id : 68634023209 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A | Terry cloth I. | Scottish Checks
B. | Tweed II. |Puckered effect
C. | Seer Sucker |IIL | Cut pile
D. | Velvet IV, | Loop piles

Choose the correct answer from the options grven below:

1. A-IIL. B-II. C-L. D-IV

)

ATV, B-1. C-III, D-II

CA-IL BA-IOLL C-LL D-IV

Lad

4. A-IV, B-1. C-II. D-III

Options :

68634091713. 1
68634091714. 2
68634091715. 3
68634091716. 4

Question Number : 29 Question Id : 68634023209 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 191 41 11 9 B Hifee
Gl T 11
A [ Busr L [epiies =
B [&S I [Rige (uhs 3
C. [dimRgey  |IL [@c uigd
D. [dede IV. [ Uiga
fraferad [deedl @ I Tg! SR &I 98- HIflU

1. A-IIL. B-1II. C-1, D-IV

)

CA-TV, B-I, C-III, D-II

A-IL B-IIL. C-1. D-IV

L

4. A-IV, B-1, C-II. D-III



Options :

68634091713. 1
68634091714. 2
68634091715. 3
68634091716. 4

Question Number : 30 Question Id : 68634023210 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A |Double Pique' | 1. |Intarsia
B. |Agile II. | Warp knat
C. |Mi Lanese ITT. | Weft kit fabric
D. Persev IV [Double knit

Choose the correct answer from the options given below:

1. A-I. B-II. C-IIL. D-IV

| )

A-IL B-IIL C-IV, D-I
3. A-TV, B-1, C-1II. D-III

4. A-IV. B-1I. C-III. D-I

Options :

68634091717. 1
68634091718. 2
68634091719. 3
68634091720. 4

Question Number : 30 Question Id : 68634023210 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 191 = 11 ¥ e Sifse

T 1 T 11
A [0 3YR sed e I Felm
B. [3r@msa IL [ &5
C. [[HarTe L. [T g3 ISl
D. [orgl V. [518d g5

FEfaRad e edl § 9 9ol 3 &1 994 S0

1. A-I. B-II. C-III. D-IV

[ ]

CA-TLL B-II0L, C-TV, D-I
3. A-IV. B-I, C-1I. D-II1

4. A-IV. B-IL. C-III. D-I

Options :

68634091717. 1
68634091718. 2
68634091719. 3
68634091720. 4

Question Number : 31 Question Id : 68634023211 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A | Naravanpet San I. | Odisha
B. | Kotpad San II. | Maheshwari
C. | Garbh-Reshmi San | III. | Karnataka
D. | Kodalikarupur IV. | Tanjore

Choose the correct answer from the options given below:

1. A-IV. B-1, C-II, D-III

| ]

CA-IITL B-1L C-IV, D-II
3. A-L B-IIL C-I1, D-IV

4. AL B-I. C-I1. D-IV

Options :

68634091721. 1
68634091722. 2
68634091723. 3
68634091724. 4



Question Number : 31 Question Id : 68634023211 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 =l 11 ¥ fier ifeg

g T I
ARIUe grel| I [ateEm
DicaTs drel | I [Aread
- gret | UL [eHies

ErsiteeuR | IV. [{oR
fFafaRad fasedl O U Ut IR &1 994 S

1. A-IV, B-1, C-II. D-III

ofow]s

[ ]

CA-IIIL B-IL C-IV, D-II

. A-L. B-III. C-II. D-IV

faa

4. A-IIL. B-1. C-I1. D-IV

Options :

68634091721. 1
68634091722. 2
68634091723. 3
68634091724. 4

Question Number : 32 Question Id : 68634023212 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [Kinkhawabs I. [tizssue Brocade
E. |Bafta 1I. fheavy gilt Brocade
C. |Abrawan II1. JPure Silk Brocade
D. Jamru IV |Less zari with silk Brocade

Choose the correct answer from the options given below:

1. A-II. B-IIL, C-IV, D-I

| ]

CA-IL B-IV. C-1L D-III
3. A-IIL B-IV., C-I. D-II

4. A-II. B-IL. C-1. D-IV

Options :

68634091725. 1
68634091726. 2
68634091727. 3



68634091728. 4

Question Number : 32 Question Id : 68634023212 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 =l 11 ¥ fier ifeg
T 1 eI 1T

A [fhTedd L [qATH (ST Flds)
B. [aIml IL [MK g dids
C. [oramam 1L [{qe]5 33 sk s
D. |sm®E IV. R=H §ids & 91y $F o]

fFafaRad fasedl O U Ut IR &1 994 S

1. A-IT. B-III, C-IV, D-I

[ ]

CA-IL B-IV. C-1. D-III

. A-IILL B-IV., C-I, D-II

faa

4. A-IT. B-11. C-1, D-IV

Options :

68634091725. 1
68634091726. 2
68634091727. 3
68634091728. 4

Question Number : 33 Question Id : 68634023213 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Inter-polymer bonds are:

A. Cross links

B. Salt linkages

C. Ether linkages

D. Benzene rings

E. Vander Waal's forces

Choose the correct answer from the options given below:

1. A.B. E only

| ]

.B. C. A only

Laa

.D. B. A only

4.D, C, B only

Options :
68634091729. 1



68634091730. 2
68634091731. 3
68634091732. 4

Question Number : 33 Question Id : 68634023213 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRERE GifeH R ge.

A TRTH Beat g
B. TaUig &5l &
D. §oiF & ®edl &
E. gisX aid §d (BE) &

1 feu U fasedl © 9 81 3T &1 984 Hife:
1.4 A, B, E
2. HdUB,C, A
3.%4d D, B, A
4,%49dD, C. B

Options :

68634091729. 1
68634091730. 2
68634091731. 3
68634091732. 4

Question Number : 34 Question Id : 68634023214 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synthetic environment friendly fabrics are:

A. Modal
B. Tencel
C. Goretex
D. Coolmax
E. Kevlar

Choose the correct answer from the options given below:

1. A. B. C only

| ]

.B.C.D only
3. C, ), E only

4. A.D. E only

Options :

68634091733. 1
68634091734. 2
68634091735. 3
68634091736. 4

Question Number : 34 Question Id : 68634023214 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PiAH (HUfe®) TaiaRu 3 Pd BUS -

A HAed
B.2Od
C. Ticay
D. Fada
E. Haax
i fU 70 f[adhedl § U Tel 3T &1 90 Bl
1. $AAA. B, C
. $ddB,C.D
. PFAC,D.E

4 FAAA.D.E

Options :

68634091733. 1
68634091734. 2
68634091735. 3
68634091736. 4

[ )

L5 ]



Question Number : 35 Question Id : 68634023215 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most common methods of dyeing are:

A Beck dyemg
B. Jet dyeing

C. Jig dyeing
D. Beam dyeing
E. Flat dyeing

Choose the correct answer from the options given below:

1. A.B.D. E only

| ]

.B,C.D. E only
3.A.B.C.Donly

4. A,C,D.E only

Options :

68634091737.
68634091738.
68634091739.
68634091740.

AW N =

Question Number : 35 Question Id : 68634023215 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MM (SR & o H WP o:

A 9% TS
B. Gic WMy
c. o g
D. §IH &g
E. Ucic g

=g fSu 70 f[d@edl | ¥ 9ol SO & 904 Bl
1. $ddA, B, D.E

. $ddB.C,D.E

3. ®AUA,B.C,D

4.%dd A, C,D,E

Options :
68634091737. 1
68634091738. 2

| )



68634091739. 3
68634091740. 4

Question Number : 36 Question Id : 68634023216 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

These textiles are produced with 'Bandh' Resist Technique.

A. Telia Rumal
B. Gharchola
C. Mothra

D. Rogan

E. Pomcha

Choose the correct answer from the options given below:

1. A.B.C.E only

| ]

.A.B.D. E only
3.B,C,D. E only
4. A C,D.E only

Options :

68634091741. 1

68634091742. 2

68634091743. 3
68634091744. 4

Question Number : 36 Question Id : 68634023216 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o1 g%l & (A 5 |y ufaly de-id & SaaTd aidl o

A, dferar $H1d
B. ORE@l
C. "igsl
D. I
E. 9l
i fU 70 f[adhedl § U Tel 3T &1 90 Bl
1. $dA A, B.C.E
. $dd A, B.D.E
. $gdB,C.D.E

4 HAAA. C.D.E

| ]

L5 ]



Options :

68634091741. 1
68634091742. 2
68634091743. 3
68634091744. 4

Question Number : 37 Question Id : 68634023217 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What all points will you keep in mind while choosing appropriate fabric while shopping?

A, Appearance
B. Flexibility
C. Comfort

D. Performance
E. Durability

Choose the correct answer from the options given below:

1. A,B.C.D only

[ )

.B.C.D.E only
3.A.C,D.E only

4.C.D.E. B only

Options :

68634091745.
68634091746.
68634091747.
68634091748.

AW N =

Question Number : 37 Question Id : 68634023217 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TIER] & T gl $US BT g9 &y [6a1 S1d1 32 $HD o FHaRad [dgHi P & H Ra-1 918 T:
A faarae
B. {1
C. AR
D. Ug¥H
E. fearau
i 50 70 [ddedl | ¥ 9ol 39 & 99 Sl
1. FIdd A, B.C.D
. $ddB,C.D.E
3.%dd A, C.D.E

4. HAdAC.D.E.B

Options :

68634091745. 1
68634091746. 2
68634091747. 3
68634091748. 4

2

Question Number : 38 Question Id : 68634023218 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The major motions of a loom are:

A Filling

B. Shedding
C. Picking

D. Beating up
E. LET-OFF

Choose the correct answer from the options given below:

1. A.B.D. E only

[ )

.B.C.D.E only
3.A.C,D.E only

4.D.C,B. Aonly

Options :

68634091749.
68634091750.
68634091751.
68634091752.

A W N =



Question Number : 38 Question Id : 68634023218 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U & B IR T T &
A, e
B. QfST
c. fafd
D. §ifeT 39
E. de-3i1%
i feu U faedl § O gl SO &1 I8 Hifer:
1. $dd A, B.D,E
. $ddB,C,D.E
.$Pdd A, C.D,E

4. HadD,C. B.A

Options :

68634091749. 1
68634091750. 2
68634091751. 3
68634091752. 4

-

L

Question Number : 39 Question Id : 68634023219 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

These are the famous subject matter of Chamba Rumal

A, Rasmala

B. Daily life

C. Rasa Mandal
D. Hunting Scenes
E. Nayika Bheda

Choose the correct answer from the options given below:

1.A.C.D.E only

| ]

.A.B.C.D only
3.A.B.D. E only

4. A B, C.E only

Options :
68634091753. 1
68634091754. 2



68634091755. 3
68634091756. 4

Question Number : 39 Question Id : 68634023219 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=91 ST B! B [avd-a%] &

A, ITHATAT
B. Gi-c wilaA
C. qgHsd
D. RPR T2
E. 70&% Ug

i 50 70 [ddedl | ¥ 9ol 39 & 99 Sl
1. $dd A, C,D,E

Hdd A, B.C.D

. ®dd A, B.D,E

4. %HAdA,B.C.E

Options :

68634091753. 1
68634091754. 2
68634091755. 3
68634091756. 4

2

[#5]

Question Number : 40 Question Id : 68634023220 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Pochampalli 1s famous for its ikat saris.

Statement IT: Andhra Pradesh's that saris appear to have closer ties with Gujarat

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

[

. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false

4, Statement I 1s false but Statement II 1s true

Options :

68634091757. 1
68634091758. 2
68634091759. 3
68634091760. 4



Question Number : 40 Question Id : 68634023220 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ty Rum g
HYA I TrIAIT SOl goe wifsHl & o ARER B
HYUT II: 319 Y48 B gohe ISl BT ToRId I Toraid! Hat ToR Tl &
IRIFT HYA & ATd® H, Ad (U T8 fddbedl H§ 9 Yol 30 &1 999 SI9I0;
1. FUF 1 3R 11 & I &
BYT1 R I AT ST S

)

5. PUT 1 TA B, AT BT 11 3T &

4 P NI T pYT I IT

Options :

68634091757. 1
68634091758. 2
68634091759. 3
68634091760. 4

Question Number : 41 Question Id : 68634023221 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The discontinuous weft threads does not extend the full width of the textiles.

Statement II: Banaras: Sar 1s weaved mn discontinuous weft threads.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

| )

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II 1s false

4. Statement [ 1s false but Statement II 1s true

Options :

68634091761. 1
68634091762. 2
68634091763. 3
68634091764. 4

Question Number : 41 Question Id : 68634023221 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- 3 By RU L §:

HYAI: T (dU2) P A YT G| @1 S0 FISTg BT (AR 8] Bl 6|

HYA I1: TR G5! Bl G (AU) & HITd UFT & §1 S1al 5|

IRIFT HY & D H, Ad (U T8 fddwedl H§ 9 Yol 30 &1 999 SI9IG;
1. FUF 1 3R 11 & I &

BT R I AT 3T S

| B

3. FYTI 9 8, APTBYT I ITT &

4 P NI T pYT I IT

Options :

68634091761. 1
68634091762. 2
68634091763. 3
68634091764. 4

Question Number : 42 Question Id : 68634023222 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Gauge or Cut 1s the indicator of fineness or coarseness of a knitted fabric.

Statement IT: Unit of gauge 1s number of needles per inch on the machine (np1)

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

[

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement [ 1s incorrect but Statement II 1s correct

Options :

68634091765. 1
68634091766. 2
68634091767. 3
68634091768. 4

Question Number : 42 Question Id : 68634023222 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- 3 By RU L §:
HYAI: UP 1 gU HUS | Hol-dl a1 Tl & Hebeid P 11lol I HE g o
FHYFIL: TS DI 5HTe § BRI R Uid 59 Riagal gsai &1 9e|
IRIFT HY & D H, Ad (U T8 fddwedl H§ 9 Yol 30 &1 999 SI9IG;

1. FUF 1 3R 11 & I &
YT AR EHT A

| ]

3. FYTI 9 8, APTBYT I ITT &

4 P NI T pYT I IT

Options :

68634091765. 1
68634091766. 2
68634091767. 3
68634091768. 4

Question Number : 43 Question Id : 68634023223 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Device used for testing colour fasteners to washing is called crockmeter.

Statement IT: Device used for testing colour fasteners to light is called light fastness tester.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

[

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II 1s false

4, Statement I 1s false but Statement II 1s true

Options :

68634091769. 1
68634091770. 2
68634091771. 3
68634091772. 4

Question Number : 43 Question Id : 68634023223 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HYA I: YIS & AT T B YaH1Y (R BREA) Slig- ad 43 S hidHeR $ed o

FYF I1: TS & J1e00 T T BT 9019 (H0R BRE-Y) Fig- are 07 B dsc PRe-9 ¢l ®5d ol
IRIFT HY & D H, Ad (U T8 fddwedl H§ 9 Yol 30 &1 999 SI9IG;

1. HYTI AR I GH TT §
U1 IR I AT 3A T

| B

3. FYTI 9 8, APTBYT I ITT &

4 P NI T pYT I IT

Options :

68634091769. 1
68634091770. 2
68634091771. 3
68634091772. 4

Question Number : 44 Question Id : 68634023224 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Felts are formed using knitting technique.

Statement IT: Knitting 13 categorized under non-woven fabric construction.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

[

. Both Statement I and Statement IT are false
3. Statement I is true but Statement I 1s false

4, Statement I 1s false but Statement II 1s true

Options :

68634091773. 1
68634091774. 2
68634091775. 3
68634091776. 4

Question Number : 44 Question Id : 68634023224 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- 3 By RU L §:

FYAI: G1S AP b SKIHT Y 7HE] (ee) BT A S e |

HY IL: T B IR-GA1ac] a%ad ST & AdqTd Fiigd fbdl Sl 3 |

IRIFT HY & D H, Ad (U T8 fddwedl H§ 9 Yol 30 &1 999 SI9IG;
1. FUF 1 3R 11 & I &

YT AR EHT A

| ]

3. FYTI 9 8, APTBYT I ITT &

4 P NI T pYT I IT

Options :

68634091773. 1
68634091774. 2
68634091775. 3
68634091776. 4

Question Number : 45 Question Id : 68634023225 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Aramids are variants of nylon.

Statement IT: Nomex and Kevlar are aramids launched by DuPont, USA.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

[

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II 1s false

4, Statement I 1s false but Statement II 1s true

Options :

68634091777. 1
68634091778. 2
68634091779. 3
68634091780. 4

Question Number : 45 Question Id : 68634023225 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- 3 By RU L §:

T I: WIS Aa & i THR |

HYA I1: A0 3R HaeR g Uie, Ggad Aod SHHRID] gRI @i [T T WIHSH 5|
IRIFT HY & D H, Ad (U T8 fddwedl H§ 9 Yol 30 &1 999 SI9IG;

1. PUA RIS T &
FYF1 AR EH HTT B

[ ]

3. PYT 190 B, AP PYT I 3T ©

4 PYTI I . T YT I Id ©

Options :

68634091777. 1
68634091778. 2
68634091779. 3
68634091780. 4

Question Number : 46 Question Id : 68634023226 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Benzene ring 1s Inter polymer bonding.

Statement IT: Vander Waal's forces 1s Intra polvmer bonding.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

[

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement 1T 1s correct

Options :

68634091781. 1
68634091782. 2
68634091783. 3
68634091784. 4

Question Number : 46 Question Id : 68634023226 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BY I: 9ol BT Sodl Sa-giferR S sldr gl

HYF II: 9 S aTd 90 SHTeR-IR §e g1 3

IRIFT HY & D H, Ad (U T8 fddwedl H§ 9 Yol 30 &1 999 SI9IG;
1. FUF 1 3R 11 & I &

YT AR EHT A

| ]

3. FYTI 9 8, APTBYT I ITT &

4 P NI T pYT I IT

Options :

68634091781. 1
68634091782. 2
68634091783. 3
68634091784. 4

Question Number : 47 Question Id : 68634023227 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following steps of production of linen in the correct sequence of order :

A Harvesting
B. Rippling
C. Retting

D. Breaking
E. Scutching

Choose the correct answer from the options given below:

1LAB,C,D,E

[ S

.B; C,A,D,E
3.4,C,B,D, E

4 A ED.CB

Options :

68634091785. 1
68634091786. 2
68634091787. 3
68634091788. 4

Question Number : 47 Question Id : 68634023227 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oM (B2 &1 IdE:

A. HET (BRAREM
B. @daA (Rafem)
c. fare RIidm
D. fausH (sifd)
E. fae (i)
1< U 770 fdwed § ¥ Hel TR &1 98- DIfuIC:

1.LA,B.C,D,E

| ]

.B,C,A,D,E
3JAC.B.D.E

4 A ED.CB

Options :

68634091785. 1
68634091786. 2
68634091787. 3
68634091788. 4

Question Number : 48 Question Id : 68634023228 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following steps mvolved in Spinning of cotton yarns in the correct sequence of order :

A. Ginning
B. Bale

C. Carding
D. Roving
E. Combing

Choose the correct answer from the options given below:

1LAB,C.E.D

| ]

A B.C.D.E
3,AB.D.C.E

4B.A.C.D.E

Options :

68634091789. 1
68634091790. 2
68634091791. 3
68634091792. 4



Question Number : 48 Question Id : 68634023228 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Id (Pic) & 4Tl T Hers:

A, o
B. 33 (&)
C. BT
D. TG
E. &Yl &A1 (DI
i feu U faedl § O gl SO &1 I8 Hifer:

1. ABCED

-2

A.B.C,D.E
3.JA.B.D.C.E

4 B. A C.D.E

Options :

68634091789. 1
68634091790. 2
68634091791. 3
68634091792. 4

Question Number : 49 Question Id : 68634023229 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps of Weaving on handloom in the correct sequence of order:

A Picking
B. Let off
C. Shedding
D. Beating
E. Take off

Choose the correct answer from the options given below:

1.B.C.A.D.E

| S

AB,C,D,E
L DG B E

4. E.AB.C.D

Options :

68634091793. 1
68634091794. 2
68634091795. 3



68634091796. 4

Question Number : 49 Question Id : 68634023229 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BYT s & U 6

A. T (fafdm)

B. & 341 (de-3H)
C. e (A3

D. fgwde @ifém

E. QaRAl (¢H-3HIh)

i feu U faedl § O gl SO &1 I8 Hifer:

1. B,C,A.D.E

-2

A.B.C,D.E
38, DG, B E

4 E.AB.C.D

Options :

68634091793. 1
68634091794. 2
68634091795. 3
68634091796. 4

Question Number : 50 Question Id : 68634023230 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following Complexity weaves in the correct sequence of from simple to advanced:

A Jacquard
B. Crepe

C. Diamond
D.Rib

E. Plain

Choose the correct answer from the options given below:

1LAB,C,D,E

| S

.E,D,C, B, A
3.E,C,D,BA

4.C.D.B.A.E

Options :
68634091797. 1



68634091798. 2
68634091799. 3
68634091800. 4

Question Number : 50 Question Id : 68634023230 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR H W KR T gA1aC Bl SficadT:

A @IS

B. &4

C. 3IgHS
D. @

E. Tl (@)

i f3U 70 fddedl O ¥ 98l 3T &1 904 Bl

1.LAB.CD.E

| )

.E,D,C,B,A
3.E,C,D,B,A

4. C.D.B.A.E

Options :

68634091797. 1
68634091798. 2
68634091799. 3
68634091800. 4

Question Number : 51 Question Id : 68634023231 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rank the yarns from thinnest to the thickest in their diameter.

AL 40/2 cotton

B. 70 D nylon filament
C. 15/1 cotton

D. 2/40 worsted

E. 6 cofton

Choose the correct answer from the options given below:

1.B.D.A.C.E

| ]

A B.C.D.E

3. E; A B, C,D

4.D.A,B.C,E



Options :

68634091801. 1
68634091802. 2
68634091803. 3
68634091804. 4

Question Number : 51 Question Id : 68634023231 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

E/UFT (@) BT 3 oI &1 HoHdT 3§ FU-d] & SR TR HHaG HIo:
A. 402 Fd (Pl
B. 70 D -G faree!
C. 15/1 9d (Ple)
D. 2/40 A8
E. 6 gd (Plc)

i f3u 70 Aol 1 © 9ol S8 & 994 B

1.B.D.A.C.E

| ]

CA.B.C.D.E
3.JEABCD

4. D.AB.C.E

Options :

68634091801. 1
68634091802. 2
68634091803. 3
68634091804. 4

Question Number : 52 Question Id : 68634023232 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps of Jacquard weave development on fabric in the correct sequence of order :

A. Design on graph paper

B. Punching of cards

C. Warping of yarns attached to hooks

D. Weave designation

E. For shed creation and for every pick one card assumes position.

Choose the correct answer from the options given below:
1.AB,C,D,E
2Z.EA B, CD
3JAD.B.C.E

4.B.A.D.C.E

Options :

68634091805. 1
68634091806. 2
68634091807. 3
68634091808. 4

Question Number : 52 Question Id : 68634023232 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HUS R DTS §-T8 DI [ADIN:

A UTH BTG R [SaH
B. B & Ud Sl

C. 5P U IS YTl (@) Pl GG (@10 HAT

D. o )
E. T fA107 3R uds e & o0 U o518 &1 o8 R @1 91dl o

g 35U 70 [deed 1 ¥ 9ol 308 & 99 Bl

1.LABCDE

| ]

.ELA.B.C.D
3JAD.B.C.E

4B.AD.C.E

Options :

68634091805. 1
68634091806. 2
68634091807. 3
68634091808. 4



Question Number : 53 Question Id : 68634023233 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps involved in Approval of lab dyes and strike offs in the correct sequence of order :

A. Dye a switch to match retailer's shade, Lab dye

B. Buyer's approval

C. Prints coloured according to approval. strike offs
D. Fabrie technologist for not using banned dye stuffs
E. Strike offs 1s a light box for perfect match-up.

Choose the correct answer from the options given below:

1LAB,C,D.E

| ]

.E;A;B,C;D
3.D,ABCE

4. E.A B.D.C

Options :

68634091809. 1
68634091810. 2
68634091811. 3
68634091812. 4

Question Number : 53 Question Id : 68634023233 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TIRTRITE U5, (Td ST18) 3R €e® HIE HT 3He:

A. G IMRT (RewR) & 31 ¥ HaF & fiu &9 & 318 (STs), TH=IEl s (3d ST))
B. AT6® &I Widid
C. WP & S fife 1 T, Te® o
D. HUST aHAIREA, m%aﬁﬁamcmaﬂsmHm:f‘a
E. 3] e & fog W P Dl gedb U1 & [Sod T 7@

i fGU 70 fJadedl O ¥ I8l 3T &1 904 Bl

1. AB.C.D.E

-2

E.A.B.C.D
3:DABCE

4. E.A.B.D.C

Options :

68634091809. 1
68634091810. 2
68634091811. 3



68634091812. 4

Question Number : 54 Question Id : 68634023234 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: Rotor spinning 1s also called as open end spimning.

Reason R: It emits the step of forming a roving. The transportation of fabrics i1s done using air on a rotor
machine.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

[

. Both A and R are correct but R 1s not the correct explanation of A
3. A 1s correct but R 1s not correct

4, A 1s not correct but R is correct

Options :

68634091813. 1
68634091814. 2
68634091815. 3
68634091816. 4

Question Number : 54 Question Id : 68634023234 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁﬁﬁwmm _Ex' U AU (Assertion A) %Wﬁﬁﬁﬁﬂ%ﬁgﬁﬂ'ﬂmw (Reason R) 7}
0 H,

SfUFHYT A: Jex TaTs (A BT 399 TS Fars (=) i Fer gl

PR R: T8 AT §9H & TRON BT IcToi- Hd1 & | e A IR 591 BT ITAN I I (BI56R) Hf
SR U FER O o1 oIl &

SWRIGd Y & ATl H, - fqu T fadedl § 9 99 Sugad 9wk &1 94 DI
1. ASIRR EFI H81 § SRR, A DI UE! TRAT§

A SRR I 98I § SR R A DI U AT 781 &

AT AR IS TR

ATSI TRl e WlBIR WEl ©

Options :
68634091813. 1

| ]

L]

e



68634091814. 2
68634091815. 3
68634091816. 4

Question Number : 55 Question Id : 68634023235 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other iz labelled as Reason R.

Assertion A: Polymers have the option of lying around without any order or in random manner. it is called as
amorphous arrangement.

Reason R: These polymers are chemically strong.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s not the correct explanation of A
3. A 1s correct but R 1s not correct

4, A is not correct but R 1s correct

Options :

68634091817. 1
68634091818. 2
68634091819. 3
68634091820. 4

Question Number : 55 Question Id : 68634023235 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁﬁﬁwmm _Ex' U AU (Assertion A) %Wﬁﬁﬁﬁﬂ%ﬁgﬁﬂ'ﬂmw (Reason R) 7}
S0 H;

STUBYT A: TR & U f51 il o611 & 1 i afid e Y o9 A Pl i e s IS8 U@
PR |/ dad Ha= Hgl a6l

PR R: T8 U= I9af® =9 9 ga9dl 8id 2|
SWRIGd Y & ATl H, - fqu T fadedl § 9 99 Sugad 9wk &1 94 DI

1. ASIR R EFI 981 § SRR, A DI UE! TRAT 8
A SRR I 98I § SR R A DI U AT 781 &
AT AR IS TR

ATSI TRl e WlPIR Wl ©

| ]

L]

=



Options :

68634091817. 1
68634091818. 2
68634091819. 3
68634091820. 4

Question Number : 56 Question Id : 68634023236 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Warpwise shrinkage 18 called relaxation shrinkage in fabrics.

Reason R: When a woven fabric 1s immersed in water, it relaxes with warp ends going back to thewr normal
length.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

[

. Both A and R are correct but R 1s not the correct explanation of A
3. A 1s correct but R 1s not correct

4, A is not correct but R is correct

Options :

68634091821. 1
68634091822. 2
68634091823. 3
68634091824. 4

Question Number : 56 Question Id : 68634023236 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁﬁﬁwmm % Uch AU (Assertion A) %Wﬁ%ﬁﬁﬂ%?‘ﬁwmw (Reason R) &
F0H;

HTUHYT A: PUS| H dHES P ol REEH! Rigs- Hgl adl o

BRI R: T H ST & IURId TP G §31 HUST G1dl IS offdll & AR I i o R SO =
daTs O 99 9 od &

SWRIG Y & Tl H, i 13U MU fadbedl § 9 969 Iuged IR &1 99 DI
1. ASIRR G F81 § SRR, A DI UE! ARAT B

A SRR I 981 § IR R A DI US| R 81 &

AT AFTRAG TE R

4 AU Rl g dfPAR w9l &

Options :

68634091821. 1
68634091822. 2
68634091823. 3
68634091824. 4

| ]

L]

Question Number : 57 Question Id : 68634023237 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: When the reactive monomers are identical. the resultant polymer 1s a homopolymer.
Reason R: Nylon 6, polypropyline, polythene are examples of homopolymers.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

(]

. Both A and R are correct but R is NOT the correct explanation of A

. A 1s correct but R is not correct

[F¥]

4. A is not correct but R is correct

Options :

68634091825. 1
68634091826. 2
68634091827. 3
68634091828. 4

Question Number : 57 Question Id : 68634023237 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

=i & HYH QU T B, TP AU (Assertion A) &0 H [A1fad 8 o THI 39 PRUI (Reason R) &
O H;

gﬁmmg:wuﬁ@mmﬁﬁﬁﬁnﬁwﬁﬁ%ﬁmﬁmwm@muﬁm)m
|

HROT R: A 6, UAHIZH, GAgUSad- Saaga® (GHYITeHT™) & 3IaeRul g
SURIEI HYH & Talis d, = 13U T fdsbedi ¥ 9 99 Suged Iuk &1 99 DI
1. A SR R &F] 981 § SRR, A 31 9g| IR 8
2. A SRR T U8 § SRR, A P T e gt §
3. AT S AT R TR TS
4 AT TR AP R TE R

Options :

68634091825. 1
68634091826. 2
68634091827. 3
68634091828. 4

Question Number : 58 Question Id : 68634023238 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A: Er1 Silk 1s mainly found in Assam.

Reason R: These worms feed mainly on castor and kesseru leaves.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A 1s not correct but R 13 correct

Options :

68634091829. 1
68634091830. 2
68634091831. 3
68634091832. 4



Question Number : 58 Question Id : 68634023238 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁﬁﬁwﬁqm _E:' U YA (Assertion A) %Wﬁﬁ@ﬁ%ﬁmwﬁw (Reason R) &
g H;

HTUFYT A: W WH (o) G0 F9 9 399 4 Haadi g

PRI R: T8 Bis T& 1R TR TUE 3R SRS & Tl WA g

SIS Y & ATl H, A= fqu T fadedl § ¥ 969 Sugad 9wk &1 =0 DI
1. ASIRREFI T8I § AR R. A DI U8 ARAT B

A SRR I8 8 AR R A DI US| AT 781 &

ATE R PR T AR

4 AYGI i g PR TEl &

Options :

68634091829. 1
68634091830. 2
68634091831. 3
68634091832. 4

| ]

fad

Question Number : 59 Question Id : 68634023239 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: Bio-constituent varn can be made by chemical spinning.

Reason R: It consist of two variants of same generic type fabrics like Nylon 6 and Nylon 6. 6.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1is the correct explanation of A

(o)

. Both A and R are correct but R 1s NOT the correct explanation of A

. A 1s correct but R 15 not correct

Lad

4, A 1s not correct but R is correct

Options :

68634091833. 1
68634091834. 2
68634091835. 3
68634091836. 4



Question Number : 59 Question Id : 68634023239 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁﬁﬁwﬁqm _E:' U YA (Assertion A) %Wﬁﬁ@ﬁ%ﬁmwﬁw (Reason R) &
g H;

HTUBYT A: [GUCD (@RI eUe) GAUN (FH) BT IFAFS Pdls gRI G- & Fbal g |
PRI R: STH AGAIT 6 3R A 66 o GHF 30 YHR & 32 (PIEa) & &l YPR eld o
SIS Y & ATl H, A= fqu T fadedl § ¥ 969 Sugad 9wk &1 =0 DI

1. ASIRREFI T8I § AR R. A DI U8 ARAT B
A SRR I8 8 AR R A DI US| AT 781 &
ATE R PR T AR
4 AYGI i g PR TEl &

Options :

68634091833. 1
68634091834. 2
68634091835. 3
68634091836. 4

| ]

fad

Question Number : 60 Question Id : 68634023240 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 15 labelled as Reason R.

Assertion A: Ganga-Tamuna usually refers to two different metallic threads used m the making design pattern
of Banarasi saree.

Reason R: It is also refers to two borders and end pieces of different colours, so making the sari reversible.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

[

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R 18 not correct

4. A 1s not correct but R 18 correct

Options :

68634091837. 1
68634091838. 2
68634091839. 3
68634091840. 4



Question Number : 60 Question Id : 68634023240 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'_‘ﬁ?:r?ﬂ W%E”TQ % Udb Ay (Assertion A) %Wﬁ%@ﬂ%?ﬁwmw (Reason R) 67}
F0H;

STUHYT A: TS AR IR R rs1 & [SwrgH 9 & 91 8 IdiT fdht S ard 2 Siel-
QT YT & YT 1 Tefifd Hrar g

BRI R: T8 fafim 31 & 91 aTeR ok 3R 1 +ft gefifa ovar 3. ous arst SovwT a9 9t 31
SWRIG Y & Tl H, i 13U MU fadbedl § 9 969 Iuged IR &1 99 DI
1. ASIRR EFI H81 § SRR, A DI Ug! ARAT B
A SRR I 981 § IR R. A DI TSI AT 81 &
AT AFTRAG TE R
ATEITRIgAPTR Wl §

Options :

68634091837. 1
68634091838. 2
68634091839. 3
68634091840. 4

| ]

L]

e

Question Number : 61 Question Id : 68634023241 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A book Handicrafts of India’ is written by:

1. Kamala S. Dongerkery

[

. Jamila Brybhushan
3. Jagdish Mittal

4. Kamaladevi Chattopadhyay

Options :

68634091841. 1
68634091842. 2
68634091843. 3
68634091844. 4

Question Number : 61 Question Id : 68634023241 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qe BiSPIuey St Sisar e ferdl 82
1. HHA Y. SRS

ST oy
STTerw fiaa

4, U I T

| ]

[ 5]

Options :

68634091841. 1
68634091842. 2
68634091843. 3
68634091844. 4

Question Number : 62 Question Id : 68634023242 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tanchoi brocades originated from:

1. Japan

[

. China

. India

s

4, Thailand

Options :

68634091845. 1
68634091846. 2
68634091847. 3
68634091848. 4

Question Number : 62 Question Id : 68634023242 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qFEls / s Sihs 3 Idi Bl g2
1. Sl4Iq

ElE]

. HIXd

4, YISdS

Options :
68634091845. 1

| )

fad



68634091846. 2
68634091847. 3
68634091848. 4

Question Number : 63 Question Id : 68634023243 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nylon was first developed in which year and by which company?

1. Dupont, USA - 1938

e

2. Vilensky, USSR - 1942
3. Courlands Fibres - 1905
4. Vilensky and Gohl - 1902

Options :

68634091849. 1
68634091850. 2
68634091851. 3
68634091852. 4

Question Number : 63 Question Id : 68634023243 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tadl @1 fde™ gl 9R 9 9 99 J iR foeg ot & R foear mar un
- gyie, 3T - 1938

-

faciea!, QUauysR - 1942

-

)

Lad

PRI PISE - 1905
4. fadie! SR T - 1902

Options :

68634091849. 1
68634091850. 2
68634091851. 3
68634091852. 4

Question Number : 64 Question Id : 68634023244 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What does numeric value denote Nylon 6 and Nylon 6.6

1. Number of carbon atoms present

()

. Value of carbonyl oxygen atom present
3. Value of Nitrogen atoms present

4. Value of Amino hydrogen present

Options :

68634091853. 1
68634091854. 2
68634091855. 3
68634091856. 4

Question Number : 64 Question Id : 68634023244 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TREH 6 R A 6.6 P1 3ifda T F1 FEE B g2
 BTA WA B TGH AT
. BIEe AT qRE] ST ga9H G
SIS TRATYSH P adH e

4. UHT SIS ST adAH T

[a—y

| ]

L]

Options :

68634091853. 1
68634091854. 2
68634091855. 3
68634091856. 4

Question Number : 65 Question Id : 68634023245 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fibre used for sanitary and medical/surgical end uses:

1. Avril

[

. Absorbit
3. Durvil

4, Courcel

Options :
68634091857. 1
68634091858. 2



68634091859. 3
68634091860. 4

Question Number : 65 Question Id : 68634023245 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HH-TwE AR e e J Suan (&g S arar 30 (Bgas)-
1. GaRa
Ussldge
BSECK
4, YT

Options :

68634091857. 1
68634091858. 2
68634091859. 3
68634091860. 4

| ]

[ 5]

Question Number : 66 Question Id : 68634023246 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nylon was the first synthetic fibre marketed by:

1. Aditya Birla, India

| )

. Du Pont, USA

. Thapar, India

Lad

4. Noune of the above

Options :

68634091861. 1
68634091862. 2
68634091863. 3
68634091864. 4

Question Number : 66 Question Id : 68634023246 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g8 ¥ fhg- ugd o0 (Ridfes) Biger & &9 § A1gei- &1 fquuE far un
1. 3G fosar, URd
3. YT0R, URd

4. F90ad § 9 Pig 81

Options :

68634091861. 1
68634091862. 2
68634091863. 3
68634091864. 4

| ]

Question Number : 67 Question Id : 68634023247 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the maximum temperature a silk fabric can be treated with?

1. less than 220° C

[ )

. less than 150° C
3. less than 100° C

4. higher than 150° C

Options :

68634091865. 1
68634091866. 2
68634091867. 3
68634091868. 4

Question Number : 67 Question Id : 68634023247 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 39 HUs B fdha ifean d9aM IR 39=Rd foar o 9aodi g2
1.220° 9. 9 HH

C150° 9. A HH

| B

3.100° 9. O &HH

4.150° 9. 9 HH

Options :
68634091865. 1



68634091866. 2
68634091867. 3
68634091868. 4

Question Number : 68 Question Id : 68634023248 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lappet weave is generated by:

1. Adding extra warp yarn

[

. By Jacquard pattern

s

. Adding extra weft

b

. skipping alternate warp

Options :

68634091869. 1
68634091870. 2
68634091871. 3
68634091872. 4

Question Number : 68 Question Id : 68634023248 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¢Ue gHTac 34 sl &;

1. ffafe aF1 A @rd aF) s 9
 OIBTS UeH 9
AR 9F1 (%) Sig- d
TSR a1 @) Bied 9

Options :

68634091869. 1
68634091870. 2
68634091871. 3
68634091872. 4

)

Lad

e

Question Number : 69 Question Id : 68634023249 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Corduroy fabric 1s achieved by:

1. Cutting of piles filling yarns

()

. Flocking method
3. Weaving

4. Burnout Method

Options :

68634091873. 1
68634091874. 2
68634091875. 3
68634091876. 4

Question Number : 69 Question Id : 68634023249 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HISg HIST g & (eI
/T (@) 5 R U 3 derg
R CRINGIE]

3. g5
4, g H3e 3ty

Options :

68634091873. 1
68634091874. 2
68634091875. 3
68634091876. 4

[—

| ]

Question Number : 70 Question Id : 68634023250 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To produce bulk type yarns which method is not used:

1. Stuffer Box

[

. Air Jet

3. Knit - Deknit

s

. OE Spun yarn

Options :
68634091877. 1
68634091878. 2



68634091879. 3
68634091880. 4

Question Number : 70 Question Id : 68634023250 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
24 ¥ o5 a8 & H1e0 9 Ui UPR & /YW (1) BT SdIa ol [l Aral

1. TEI dlag

| ]

TR Ui
e fafae

4. OE W I

[ 5]

Options :

68634091877. 1
68634091878. 2
68634091879. 3
68634091880. 4

Question Number : 71 Question Id : 68634023251 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Paithami sar1 of Maharashtra weaves in:

[

. Supplementary weft

()

. discontinues weft

. interlocked weft

]

4. Additional warp

Options :

68634091881. 1
68634091882. 2
68634091883. 3
68634091884. 4

Question Number : 71 Question Id : 68634023251 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TERIY B U1 WISl &1 15 H UaRT fobar oirdl &:

1. Yxe diH] (a4c)

| ]

. 3dd T (dU)
-6 M (A7)
4, Jfafyad ard

Options :

68634091881. 1
68634091882. 2
68634091883. 3
68634091884. 4

[ 5]

Question Number : 72 Question Id : 68634023252 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Patola Sar1 1s traditionally woven by:

1. Vohra

()

. Salvi

. Bhatia

]

4. Brahmins

Options :

68634091885. 1
68634091886. 2
68634091887. 3
68634091888. 4

Question Number : 72 Question Id : 68634023252 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UeTdl Arel &l YRUIRS =4 9 g4 6:
1. dleT

Tt

uifean

| ]

Lad

4. STE

Options :
68634091885. 1



68634091886. 2
68634091887. 3
68634091888. 4

Question Number : 73 Question Id : 68634023253 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which fibre 1s NOT melt spun?
1. Nylon 6

2. Acrylic

s

. Polyester

4. Nylon 6.6

Options :

68634091889. 1
68634091890. 2
68634091891. 3
68634091892. 4

Question Number : 73 Question Id : 68634023253 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DE T (FeaR) ed Fars (Hee ) I 78] a1 g1
1. AgEH 6
Ulthfc®
 gifegEey

4. A 6.6

)

Lad

Options :

68634091889. 1
68634091890. 2
68634091891. 3
68634091892. 4

Question Number : 74 Question Id : 68634023254 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fade - ometer or Weatherometer 1s used to test:

1. Colortastness to Frosting

()

. Colorfastness to Crocking
3. Colorfastness to Dry Cleaning

4. Colorfastness to Light

Options :

68634091893. 1
68634091894. 2
68634091895. 3
68634091896. 4

Question Number : 74 Question Id : 68634023254 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ths-3fHTeR U1 9eR SIHie T STINT &1 Sii=H & ey foan Sl &2

1. WIRET H W ] Uadep 9 (P eRBRE-1H)

| ]

. I | T BT JaFH U (BeRBIE-9)

. S5 AT H 3T P GaDII (HORBRCY)

L]

4. YePTR H T BT YehTY (HeRPReA)

Options :

68634091893. 1
68634091894. 2
68634091895. 3
68634091896. 4

Question Number : 75 Question Id : 68634023255 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which fibre 1s not generally used as stitching thread?
1. Cotton
2. Nylon
3. Polyester

4. Rayon

Options :
68634091897. 1
68634091898. 2



68634091899. 3
68634091900. 4

Question Number : 75 Question Id : 68634023255 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 IR R [ I (BrgaR) BT SUaNT fHels ¥F @1 ae 16! [dl Sl

. Yd (@)

[

vy

LRI
3. OifeTdex
4,39

Options :

68634091897. 1
68634091898. 2
68634091899. 3
68634091900. 4

| ]

Question Number : 76 Question Id : 68634023256 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which fibre comes from the Augora goat. mainly found m territory:

1. Caslunere

[ E]

. Alpaca

. Mohair

]

4. Vienna

Options :

68634091901. 1
68634091902. 2
68634091903. 3
68634091904. 4

Question Number : 76 Question Id : 68634023256 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T &9 9 g1 8 URd o1 arell 3iTRT g | B H1 X0 (BI3aR) W &1dl o
1. HHRL

| ]

HdThT
R
4. fag

Options :

68634091901. 1
68634091902. 2
68634091903. 3
68634091904. 4

[ 5]

Question Number : 77 Question Id : 68634023257 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vast range of knitted home textile products are produced in:

1. Trrupur

[

. Chandigarh

. Delhi

s

4, Ludhiana

Options :

68634091905. 1
68634091906. 2
68634091907. 3
68634091908. 4

Question Number : 77 Question Id : 68634023257 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gIae! UiE 3% IdTal B oTge fafaud el el g2
1 TR

ESEH

faced

4. gfergrn

Options :
68634091905. 1

| )

fad



68634091906. 2
68634091907. 3
68634091908. 4

Question Number : 78 Question Id : 68634023258 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dacron 15 a fibre modification of:

1. Cotton

2

. Acrylic

. Polyester

s

4. Nvlon

Options :

68634091909. 1
68634091910. 2
68634091911. 3
68634091912. 4

Question Number : 78 Question Id : 68634023258 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST g HT I (FI5eR) IYeA
1. 9
Ufhfeid
 gifeuEeR

LY}

4. A1

)

Lad

Options :

68634091909. 1
68634091910. 2
68634091911. 3
68634091912. 4

Question Number : 79 Question Id : 68634023259 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Filament yarn are than spun yarns of the same diameter of fibre type:

1. Stronger

()

. Weaker
3. Harder

4. Softer

Options :

68634091913. 1
68634091914. 2
68634091915. 3
68634091916. 4

Question Number : 79 Question Id : 68634023259 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fraie ga/am () PR YSR P qIH A S PIC U gAY Al
1. Hefqd
HUGR
3.8

| ]

4. HA1gH

Options :

68634091913. 1
68634091914. 2
68634091915. 3
68634091916. 4

Question Number : 80 Question Id : 68634023260 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Studios which employs a team of designers for print-development are called:

1. Print design studios

(]

. Print development studios
3. Textile design studios

4. Art studios

Options :
68634091917. 1
68634091918. 2



68634091919. 3
68634091920. 4

Question Number : 80 Question Id : 68634023260 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S (fie) FrofRig e & Ry FSwTeel 3 & o1 ey et a7l Sefsall e &
1. fife fwee i
e faopra Sacdie) @l

| ]

[ 5]
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Options :

68634091917. 1
68634091918. 2
68634091919. 3
68634091920. 4

Question Number : 81 Question Id : 68634023261 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fabric will be a discharge print if -

1. It 1s done with heat transfer method

[

. The background colour 1s same shade on the face and back of fabric
3. Wax like resinuous substance 1s used in the printing process

4. The printing causes stiffening of fabric

Options :

68634091921. 1
68634091922. 2
68634091923. 3
68634091924. 4

Question Number : 81 Question Id : 68634023261 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091921. 1
68634091922. 2
68634091923. 3
68634091924. 4

Question Number : 82 Question Id : 68634023262 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Carriers or swelling agents are used m dyeing to improve:

1. Softness of fibre

()

. Dye exhaustion
3. Uniformity of color

4. Slow the process of dye uptake

Options :

68634091925. 1
68634091926. 2
68634091927. 3
68634091928. 4

Question Number : 82 Question Id : 68634023262 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
forsy I1et & GuR o1 & ey TTg (S1271) H a8 | 41 $alld dedl 1 SUdT i Jral -
1. ¥R (BI3aR) DI DHIF]

| ]
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Lad
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Options :
68634091925. 1



68634091926. 2
68634091927. 3
68634091928. 4

Question Number : 83 Question Id : 68634023263 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following fabric has high resilience:

1. Flax

2

. Rayon

. Cotton

s

4. Polyester

Options :

68634091929. 1
68634091930. 2
68634091931. 3
68634091932. 4

Question Number : 83 Question Id : 68634023263 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafalag ous ¥ S=-duadr eidl &

1. Uoiad

' W

A
N
4. GTTATER

Options :

68634091929. 1
68634091930. 2
68634091931. 3
68634091932. 4

B

Lad

Question Number : 84 Question Id : 68634023264 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following 1s a property of canvas fabric?

1. It 1 a light weight fabric

()

It 1s a twill weave fabric
3. Tt 1s a heavy weight fabric

4. Tt 1s used for light suiting

Options :

68634091933. 1
68634091934. 2
68634091935. 3
68634091936. 4

Question Number : 84 Question Id : 68634023264 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ha BT BT I[0 1 &:
T U o1 BUST §

[a—y

| ]
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T U JOFIGR BUST 3
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Options :

68634091933. 1
68634091934. 2
68634091935. 3
68634091936. 4

L]

s

Question Number : 85 Question Id : 68634023265 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How 1s ANTI-STATIC finish achieved?

1. By adding moisture to fabric

()

. By adding chlorine to fabric

L%}

. By adding texture to fabric

4. Reducing the texture of fabric

Options :
68634091937. 1
68634091938. 2



68634091939. 3
68634091940. 4

Question Number : 85 Question Id : 68634023265 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U TIR-VWiP (UE-Rfew) uReh i 6y gIied sidl g2
1. B9g Bf TH SSH

| ]

®Us H FaRH a9

HUS H CqgaR iedy
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Options :

68634091937. 1
68634091938. 2
68634091939. 3
68634091940. 4

Question Number : 86 Question Id : 68634023266 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Chikan embroidery of Lucknow was done on a locally woven muslin called:

1. Gauze

[ E]

. tanzeb

. Gaji

L%

4. abravan

Options :

68634091941. 1
68634091942. 2
68634091943. 3
68634091944. 4

Question Number : 86 Question Id : 68634023266 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091941. 1
68634091942. 2
68634091943. 3
68634091944. 4

Question Number : 87 Question Id : 68634023267 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Acid Dye' are mamly applied on:

1. Protein fibres

()

. Mineral fibres

. Man-made fibres

]

4. Cellulose fibres

Options :

68634091945. 1
68634091946. 2
68634091947. 3
68634091948. 4

Question Number : 87 Question Id : 68634023267 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR S8 YR AR TR It oifelt
1. 9IS 3= (Blea)) W
. A1 $=M (PIga) TR
O AT =i (PrgeR) )
G I (PIEeR) R

Options :
68634091945. 1

[ )
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s



68634091946. 2
68634091947. 3
68634091948. 4

Question Number : 88 Question Id : 68634023268 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following dyes 1s readily soluble in water:

1. Napthol dyes

[

. Reactive dyes

s

. Disperse dyes
4. Sulphur dyes
Options :
68634091949. 1
68634091950. 2

68634091951. 3
68634091952. 4

Question Number : 88 Question Id : 68634023268 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafarad @ § $1F 4 815 SR 9 O H g St 82
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wfaferarsfia (Rufeea) s1
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4, BT BTG
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Options :

68634091949. 1
68634091950. 2
68634091951. 3
68634091952. 4

Question Number : 89 Question Id : 68634023269 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The most popular pattern of Baluchar Sar1 1s:

1. The creeping vine

[ E]

. The peacock
3. Tree of life

4. The Kalka

Options :

68634091953. 1
68634091954. 2
68634091955. 3
68634091956. 4

Question Number : 89 Question Id : 68634023269 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR US| &l Jag aidbih Ue 6:
1. dAgR adl
O

| ]

Lad

FE g

4. hef

Options :

68634091953. 1
68634091954. 2
68634091955. 3
68634091956. 4

Question Number : 90 Question Id : 68634023270 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tangaliva weaving. also known as Daana weaving 1s practiced in:

1. Gujarat

2

. Maharashtra
3. Tamil Nadu

4. Odisha

Options :
68634091957. 1
68634091958. 2



68634091959. 3
68634091960. 4

Question Number : 90 Question Id : 68634023270 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e gHTs. 5 21 18 ot PEd . Pal J 9eE o

1. T[eiRTd

HBRIY
4. 39

Options :

68634091957. 1

68634091958. 2

68634091959. 3
68634091960. 4

| ]

L]

Question Number : 91 Question Id : 68634023271 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Waterproof breathable fabrics have lamination of:
1. Teflon
2. Resins

. Softners

]

4. Chlorine

Options :

68634091961. 1
68634091962. 2
68634091963. 3
68634091964. 4

Question Number : 91 Question Id : 68634023271 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091961. 1
68634091962. 2
68634091963. 3
68634091964. 4

Question Number : 92 Question Id : 68634023272 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 D yarns of 3 yarns ply together will give resultant yarn of denier.
1.300d
2.3/100d
3.3/600d

4.100/3d

Options :

68634091965. 1
68634091966. 2
68634091967. 3
68634091968. 4

Question Number : 92 Question Id : 68634023272 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 YT (@) W8 & 1008 /T @) Iy e fdam S &1 afomdt wemm @) S
1. 300 Sl

2.3/100 3t
3. 3/600 &I

4.100/3 8t

Options :
68634091965. 1
68634091966. 2



68634091967. 3
68634091968. 4

Question Number : 93 Question Id : 68634023273 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Twist in varn 1s denoted by:
1. Threads per inch

2. Turns per inch

s

. Floats per inch
4. Crimp per inch

Options :

68634091969. 1
68634091970. 2
68634091971. 3
68634091972. 4

Question Number : 93 Question Id : 68634023273 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I @) & (0% &1 o FIEP fovar S g?
1. Ufer g1 e

T § 4ATd ()
4 Ufd == fobg

Options :

68634091969. 1
68634091970. 2
68634091971. 3
68634091972. 4

)

Lad

Question Number : 94 Question Id : 68634023274 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The combed sliver of wool 1s ecalled as

1. Low

[ E]

. Top

. Sliver

]

4. yamn

Options :

68634091973. 1
68634091974. 2
68634091975. 3
68634091976. 4

Question Number : 94 Question Id : 68634023274 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A P D BT g3 Fav Bl 31 Te Sl &2
1.9l

i)

. ¢y

| ]

4.0

Options :

68634091973. 1
68634091974. 2
68634091975. 3
68634091976. 4

Lad

Question Number : 95 Question Id : 68634023275 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dupion Silk forms when silkworms spin their cocoon together.

1. Two

[ E]

. Three
3. Four
4. Five

Options :
68634091977. 1
68634091978. 2



68634091979. 3
68634091980. 4

Question Number : 95 Question Id : 68634023275 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST ¥ dd 9491 & 5id WS U 1Y HGAI HIp gd 5 |

1.

L]

584 % 8

4.,

Options :

68634091977. 1
68634091978. 2
68634091979. 3
68634091980. 4

Question Number : 96 Question Id : 68634023276 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the terms that are NOT used to specify color?

1. Value

[ E]

. Chroma
3. Hue

4, Mixture

Options :

68634091981. 1
68634091982. 2
68634091983. 3
68634091984. 4

Question Number : 96 Question Id : 68634023276 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091981. 1
68634091982. 2
68634091983. 3
68634091984. 4

Question Number : 97 Question Id : 68634023277 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Promostyl & WGSN are examples of:

1. Trade fair

()

. Street trends

. Trend Research in colour

[F¥]

4. Fashion Forecasting Packages

Options :

68634091985. 1
68634091986. 2
68634091987. 3
68634091988. 4

Question Number : 97 Question Id : 68634023277 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS SR WSGN fbaes Sargul g2
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Options :
68634091985. 1



68634091986. 2
68634091987. 3
68634091988. 4

Question Number : 98 Question Id : 68634023278 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Grading process m wool fabric 1s used to check:

1. Elasticity

[

. Fabric fineness and length

s

. Quality of fibre

4. Durability of fibre
Options :
686340919809. 1
68634091990. 2

68634091991. 3
68634091992. 4

Question Number : 98 Question Id : 68634023278 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Lad

Options :

68634091989. 1
68634091990. 2
68634091991. 3
68634091992. 4

Question Number : 99 Question Id : 68634023279 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tyre cords, geotextiles. conveyor belts are classified products of

1. Home textiles

()

. Apparel
3. Industrial textiles

4. Smart textiles

Options :

68634091993. 1
68634091994. 2
68634091995. 3
68634091996. 4

Question Number : 99 Question Id : 68634023279 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e @ls, olcayesd, -0 dee [dyd ded dldd 3G 67
1. IR a5

g

3. AT o
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Options :

68634091993. 1
68634091994. 2
68634091995. 3
68634091996. 4

| ]

Question Number : 100 Question Id : 68634023280 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fibre having 50 warps and 40 wefts in one mch will have fabric (thread) count as:
1. 2000
2.10
3.90

4. 0.8

Options :
68634091997. 1
68634091998. 2



68634091999. 3
68634092000. 4

Question Number : 100 Question Id : 68634023280 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U® 59 3 50 T (@) 3R 40 §H (3%<) 1 HUs H HUS (YT B 1 gl

1. 2000

[ ]

.10

. 90

g

4. 0.8

Options :

68634091997. 1
68634091998. 2
68634091999. 3
68634092000. 4



